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Volume

Volume: equal to the area of the base times the height: "𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)". The 
base must be the same as the top.

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)
𝑉 = (𝜋𝑟ଶ) × (ℎ)
𝑉 = 𝜋𝑟ଶℎ

𝑉 = 𝜋𝑟ଶℎ
𝑉 = (3.14)(3)ଶ(8)

𝑉 = 226.19𝑐𝑚ଷ

Volume

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)

𝑉 = ൬
𝑏 × ℎ

2
⎯⎯⎯⎯⎯൰ × (𝐻)

𝑉 =
𝑏ℎ

2
⎯⎯⎯× 𝐻

𝑉 =
𝑏ℎ

2
⎯⎯⎯× 𝐻

𝑉 =
(8)(3)

2
⎯⎯⎯⎯⎯⎯× (10)

𝑉 = 120𝑐𝑚ଷ

Notice: the volume is calculated by finding the area of the base of the triangular prism using the 
height of the triangle, ℎ, multiplied by the height of the prism, 𝐻. 
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